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Directions ; In this section ,you will hear 10 short conversations. At the end of each
conversation ,a question will be asked about what was said. Both the corwersatwn
and the question will be spoken only once. Aﬁer each quesiion there wilt! i)e a pause.
during the pause ,you must read the four choices marked’'A) ,B), C) and D) ,and
decide which is the best answer. Then mark the comespondmg letter on the Answer
Sheet with a single line through the centre
Example ; You will hear: -

You will read:

A) 2 hours. B) 3 hours. C) 4 hours. ‘D) 5§ hours.

From the conversation we know that the two were talking -about some work
they will start at 9 o’clock in the morning and have {o finish at 2 in the afternoon.
Therefore ,D) “5 hours” is the correct answer. You ould choose {0y on the An-
swer Sheet and mark it with a single lme through the centre.

. Sample Answer [A] (B [Cl ey
1. A) He is still bemg treated in the hospital.

P R TSR,
B) He has had an operation. g L0 AN
C) He'll rest at home for another two weeks \
ekl g bt -
D) Hé returiied to work last wéek. Yy g/ P
2. A) 85. B) 70. - C) 64, - D) 3L
3. A) To meet Tom Wang. .- - ‘B) To go to-hospital.
C) To work in his office. ‘D) To attend a meeting.-
4. A) She was afraid she might be kept too late.
B) She would havetsomething more important to do.
C) She had to meet a"&iemd-éf héls. e



D) She was not in the mood to attend the party.

5. A) He has somework .dn : _
B) The woman s goi s i Syl N
C) His boss is coming to see hlm.

D) He doesn’t feel like eating any bread today.
A) He has little chance to play football,
B) He often cuts classes to play football:

Non

C) He's looking for somebody to play the game with. '
D) He loves playing foothall very much
7. A) Go to the lab for a qmck look, ,
7 B) Check on what’s for dinner.
C) Have a run before they eat.
D) Go and see if they have dropped anything in the lab.
8. A) He can’t find his new apartment. . ‘ ¢
B) He had a bigger apartment before.
C) He finds the x;ew .apartment too big for him.
D) He's having a hard time finding an aparlment ;
/9. A) To write a check. B) To ﬁnd a telephone number
C) To ring up somebody. D) To check the telephone service.
10. A) One. B) Four. C) Five. D) Nope.

9
L s
Ak i

Directlons fn this section ,you wdl hear 3 short passages At'the end of each pas-
sage ,you wzli hear some questions. Both the passage and the questwns will be spoken
only once. After you héar a qucstw‘ﬂ,you must chioose the best answer from the four
choices marked A) ,B) ,C) and D). Then mark the correspondmg letter on. the An—
swer Sheet with a single line through’ the centre. A

Passage One o

[ Questions 11 to 13 are bawd on the “_Q you | have Lust hqard J

<l

11. A) It is & university for people in prison.
B) It is a university for students from middle-class famlhes -
C) It is a distance educational system.

D) It is a university for free education... «: - 47 e
12. A) About 40,000. ot o BY Aboutﬁmﬂ cege g
C) About 60,000. : .D) Abeut:25,000. . - - ¢

.2.
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13. A) Special TV and radio programmes.
‘B) Correction of the student’s written work.
C) Lectures and talks. '

D) Group discussions in class.

Passage Two
| Questions 14 to 16 are hased an the pagsag_a:@ have just heard. ]
14. A) He was a doctor. B) He was a writer.

C) He was an actor. D) He was a teacher.

15. A) Press certam points around the eyes with the fingers. =~
B) Look at distant objects by moving the eyes from side to side.
C) Do outdoor exercises dmly _
D) Stare ata calendar on the classroom wall v
16. A) To read the book by the famous British wnter
B) To cover their eyes durmg a period of intensive re,admg
C) To visit doctors of traditional Chinese medlcme
D) To relax their eyes frequently while reading.
Passage Three . 3.
[ Questions 17 to20 are based on the passage you have 1ust heard. }
17."A) More Jobs could be provided than before. o
" B) More people could be educated than before.

C) More books could he printed and distributed.
D) More ways could be used to excbange knowledge.

I

18. A) Around 1400." " B) Around 1900‘ S
C) Around a00. o D) Around '900." S
19. A) China. B) Sweden. " C) Egypt. DY Japan.

20. A) More and more paper is being consumed’ nowadays
B) Paper enables people to receive education 'more easxly Lo
C) The invention of paper is of great significance to man.

D) Paper contributes a lot to the keeping of hist(‘)'licavliréé'ofﬁsi'.‘ T
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Directions: I this section’,you will hear 10- short corwersatwns "At the end of each
conversation ,a question will be asked about what was said. Both the conversation
and the question will be spokeri only once. After each qwestwn there will be a péuse.
during the pause ,you must read the four ‘chaices marfred A) B),C) and D) ,and
decide which is the best answer. Then mark the corresponding letter on the Answer
Sheet with a single line through the centre.
Example :You will hear: C

You will read:

A) 2 hours. B) 3 hours. C) 4 hours. D) 5 hours.

From the conversation we.-know that-the-twe, were -talking-about: seme -work
they will start at 9 o’clock in the morning and have to finish at 2 in the aftenoon..
Therefore, D) “5 hours” is the correct answer. You should choose [D] on the An-
swer Sheet and mark it with a single line through the centne

Sample Answer [A] [B] [C] I e

L A) Read four chapters, B) Write an article, »

C) Speak before the class. . D) Preview two chapters.
2. A) The woman is being mtemewed by a reporter. .

B) The woman is as_lcfmg»t:qr“alp‘r}qmonon o

C) The woman is applying _fo;ré job.

D) The woman is being given : aﬁ examination.
3. A) His car was hlt by another car. -

_B) He was hun whlle playm&volleyball

C) He fell down the stairs.

D) While crossing the street,he was hit by a car.
4. A) Took a photo of him.

B) Bought him a picture.

C) Held a birthday party.

D) Bought him a frame for his picture.

. 4.
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3¢ A) No medicine could solve the woman’s problem. -
B) The woman should eat less to lose some weight.
C) Nothing could help the woman if she ate too little.
D) The woman should choose the right foods. _
6. A) He meant she should make a phone call if anythmg went wmng
B) He meant for her just to wait till help came.
C) He was afraid something would go wrong with her car.
D) He promised to give her help himself.
A) No,he missed it. . B) ?es,he did.
~ C) No,he didn't. D) ‘Yes,he' prohablzi_’;iid.
8. A) He has edited three books. '
B) He has bought the wrong book.

\>'

C) He has lost half of his money. TR

D) He has found the book that will be used.
9. A) At7:30. B) At 8:30. C) At9 00. D) At9 30
10. A) Six. B) Seven. . C) Eight. D) Nme :

Directions: In this section,you will hear 3 short passgge. At the end of eacit pas-
sage ,you will hear some questions.. Both the passage and the questions will pe spoken
only once. After you hear a question,you must choose the best answer from the four
choicds marked A) ,B) ,C) and D). Then marl the. correspapding letter on the A(L

swer Sheet with a single line through the centre. et

Passage One R S

[ Questions 11 to 13 are based on the passage you ‘have just heard. J

11. A) They often take place in her maJor industries. ' . o
B) British trade unions are more powerful. =~ Y
C) There are more trade union members in Britain.
D) Britain loses more working days through strikes every year. -
12. A) Such strikes are against the British law.
B) Such strikes are unpredictable. &
C) Such striekes involve workers from different trades.
D) Such strikes occur frequently these days.
13. A) Trade unions in Britain are becoming more popular.

B) Most strikes in Britain are agains? the British law.
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C) Unofficial strikes in Britain are easier to deal with now. ..
D) Employer-worker relations in Britain have become tenser.
Passage Two

[ Questions 14 to 16 are based on the passag you have just heardJ

14. A) The vxctory over one’s fellow runners.
B) The victory over former winners. .
C) The victory of w111-power over fatigue.
D) The victory of one’s physwal strength
15. A) The runner who runs to keep fit.
B) The runner who breaks the record.
C) The runner who does not break the rules’

D) The runner who covers the whole dlstance :

16. A) He won the first prize. B) He dxed because of fatlgue
C) He fell behind the other runners D) He gave up because he was tired.
Passage Three
fQuestuons 17 10 20 are based on the pa Lyou have just heard. ]
17. A) 17,000 B) 1,700. Cc)24. D) 9,000.

18. A) It’s located in a college town.
B) It's composed ‘of d gfoup of old buildings.
€)'t clagsroéms are beautifully designed. t L

D) Its library is often erowded with stiients. ' co o

19. A) Teachers are well paid ‘&t Deep Springs.
_B) Students are mainly from New York State.
C) The length of schooling is two years.
D). Teachers.needu’t pay for their rens and meals; .-
20. A) Take a walk in the desert. ) B) Go to a cinema. P
C) Watch TV programmes.! 7 _‘ D) Attend a party.. o



tAARKY ARRKN  hitp//wwwwmmenglishnet

=

oot 468 -
I H it s

" Directions : In this section ,yau wzll hear 10 short conversations. Az the end of each
congersation ,a question will be asked about what was said. Both the, conversation
and the question will be spoken only once. After each. question there will be a pause.
during the pause ,you must read the four choices markqd A), B) C) and D), Vavn.d
decide which is the best answer. Then mark the corresponding lester on the Answer
Sheet with a single line through the centre.

Example; You will hear:
You will read: o =
A): 2 hoiws.’ B) 3 hours. . C) 4 hours. . D)5 hours.
From the conversation we know: that the two were talking about some work
they will start at 9 o’clock in the morning and have to finish at 2.in the afternoon.

' Therefore,D) “5 hours” is the correct answer. You should .choese [ D] on the An-
swer Sheet and mark it with a single line through the centre.. .. 8, .

Sample Answer [A] [ B] [C] EB}—

1. A) She wants to return the skirt her husband bought . o

B) She wants to buy ariother skirt. ' © B
C) She wants to change the blue ‘skirt for 'a"'&é]low ‘one. St
D) She wants to.change the yellow skirt for'a blue one. :

2. A) Its too expensive. - B)H i‘snlgeedc’d; ‘ !
C) It should be built. : ‘D) A college would be bettet.
3. A) Jack’s car was-stolen. - B) Jack sold his-car.:
C) Jack bought:a new car. - i D) Jack: l'sad a-car acmdent IR

4. A) Some people pretend to know what they reslly don’t. ... i = i
B) What the woman saidis true.  : - Cho b b
C) What the woman said is wrong. e b
D) He knows mere than the woman does. : - -
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5. A) The woman’s job as a librarian. B) Women’s rights in society.
C) An important election. D) Caree{ Plan?ing. o P ,
6. A) She thinks it is easier said than done. . S
B) She totally agrees with him. =
C) She feels that what he says is simply nonsense.
D) She thinks that he ig i.mth? g;ﬁpoht persol%.-

7. A) To clean the yard. - - “B%To ‘weed the garden.

C) To hire a gardener. D) To work in the flower beds.
8. A) On the 6th of June. B) On the 9th of June.

C) On the 8th of June. D) On the 19th of June.

9. A) The man thinks the woman is wasting her time.
B) The man #hinks the woman should triake full tise of hef time.™!
" C) The man is eager to kiow the woman s dniswer. '
D) The man ca.n wait and t}\lere is no 'need for her to hurry
10. A) To run irito each othet”; B To get bargams o
C) "To avoid the crowds. D) To join tﬁe cmwds'. v e

Directions. In this section, you will hear 3. short passages. At-the :end:-of each pas-
sage ,you will hear some questions: Both the passage and the: questions will be spoken
only oncé. After you hear:a 'question’, you must:choosé the best answer from:the four
choices maked A) ,B) ,C) and D). Ther mark the correspandlng’letter on: tﬁe An-
swer Sheet with a single liné thrmigh the centre:” ' : P il ’

Passage One
[ Questions 11 to 13 are based on the passa g ou have just heardJ

11. A) Because of their love for hobbies apd pasnmes Lo
B) Because of their enthusiasm, for spoxts.. .,
C) Because of their fear of heart attacks.
D) Because of their strong desire for good health.

12. A) It was decreasing. . =" B) It was increasing. . ¥ . ..
C) It remained almost unchanged. D) It was: going up 'slowly. : -

13. A) Those who have heart attacks. - ..o . b« guo oo et e 4
B) Those who have the desire to be physmally ﬁt: T ’
C) Those who have spare time. i I
D) Those who have inactive jobs. T L LI

080
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Passage Two

rQuestions 14 to 16 are based on the passage you have just heard. ]

14. A) In the white pages. B) In the blue pages. *”\'
C) In the yellow pages. i D) In a special section.

15. A) On the first page of the telephone book
B) At the end of the telephone book.
C) In the front of the white pages.
D) Right after the white pages.

16. A) Check your number and call again.
B) Tell the operator what has happened.

C) Ask the operator to put you through.

D) Ask the operator what has happened.

Passage Three
[ Questions 17 to 20 are based on the passage you have just heartu

17. A) Tts specialization in transporting small packages.
B) The low cost of its service.
C) Being the first a airline to send urgent letters
D) Its modern sorfing facilities. o
18. 'A)'10,000. = B) 35. ©oc)y1se. 7 D)0
19. A) Because of its good alrpon facilities.
B) Because of its location in the country.
C) Because of ifs size. SR
D) Because of its round-the-clock service.
20. A) Iis full-time staff. N
B) The postmen who work in Memplus
C) Students who work in their spare time. /
D) The staﬂ membei‘s ‘of the Interational Alrport
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Directions : In this section, you will hear 10 short conversations. At the end of each
conversation, a question will be asked about what was said.” Both the com)ersatwn
and the question will be spoken only once. After each quesuon there will be a pause.
During the pause, you must read the four choices marked AY, B), C), and'D),
and decide which. is the best answer. Then mark the corresponding letter on the An-.
swer Sheet with a single line through the center,
Example; You will hear:
Yonu will read: . .
A)2hours B)3hours C)4hours D)5 hours
From the conversation, we know that the two were talkmg about some work
they will start at 9 o’clock in the moming and have to ﬁmsh at 2 in the afternoon.
Therefore, D) “5 hours” is the correct answer. You should choose, [D] on the
Answer Sheet and mark it with a single line through the center
Sample Answer [A] LB] [C] H}}—
1. A) No,it’s open only to teachers and postgraduates, o
B) Yes,he can study there if he is writing a research paper
C) Yes,because he is a senior student ’
D) Yes,but he needs the approval of his professor

2. A) It was pretty good. B It was rathe;ﬂgiul] S
C) It was not well organized. D) was attended by many people.

3. A) The effets of the flood. B) The heroic fight against a flood.
C) The cause of the flood. D) Floods of the past twenty years.

4.A) They were both busy doing their own work.
B) They waited for each other at different place.
C) They went to the street concert at different times.
D) The man went to the concert but the woman didn’t.
5.A) The air is polluted. B) The people there are terrible.
C) It’s too windy. D) The beaches are dirty.

<10 -
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6. A) In Mexico. B) In California.
C) In the city. D) In New Mexico.
7.A) The woman blames the man for his absence.
B) The woman thinks that everythmg was all nght
C) The woman doesnt thmk it was the man’s fault
D) The woman thinks it was the man’s fault
8. A) He has too many dreams.
B) He like to sleep.
C) He doesn’t put his ideas into practice.
D) He doesn’t have many good ideas.
9.4) Gettmg extra credits.
B) The reqmrements of an M. A degree.
C) The credit hours requlred for an M. A. thesis.
D) Takmg more optional courses.
10. A) They get a bargain right away.
B) They have ia look at the advertisement.
C) The throw away their TV set.
D) They go and buy a big TV set.

Dlrectlons :In this section, you will hear 3 short passages. At the end of each - pas-
sage, you will hear some questions, Both the passage and the questions will be spo-
ken only once. Afier you hear a question, you must choésg the best answer, from the
JSour choices marked A) , B), C) and D). Then mark the corresponding - letter on
the Answer Sheet with a single line through the centre.

Passage One

LQuestions 11 to 13 are based on the passage you have just heard. ]

11. A) Because many people don’t know how to behave in social situations.
B) Because most people are shy by nature.
C) ‘Nobody will laugh at you for being shy.
D) Shyness is difficult to overcome.

{ '12. A) By prediction. B) By recording.
C) Through observation. D) Through interviewing.
13. A) To observe peopl;’; attitude towards strangers.
B) To see how people get along with their friends. p/s[p/b-ﬁ



